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QUESTION 1

Which configuration fulfills the requirement of configuring LDP with Cisco Nonstop Forwarding on a router with 5
minutes time to hold the forwarding table information and 1 minute retry timer value for an LDP connection? 

A. mpls ldp graceful-restart graceful-restart forwarding state-holdtime 5 graceful-restart reconnect-timeout 1 interface
GigabitEthernet0/0/0/0 ! 

B. mpls ldp graceful-restart graceful-restart forwarding state-holdtime 300 graceful-restart reconnect-timeout 60
interface GigabitEthernet0/0/0/0 ! 

C. mpls ldp nsr graceful-restart graceful-restart forwarding state-holdtime 300 graceful-restart reconnect-timeout 60
interface GigabitEthernet0/0/0/0 ! 

D. mpls ldp nsr graceful-restart graceful-restart forwarding state-holdtime 5 graceful-restart reconnect-timeout 1
interface GigabitEthernet0/0/0/0 ! 

Correct Answer: B 

 

QUESTION 2

A recent analysis of a service provider network infrastructure revealed the necessity to reinforce bandwidth control over
all the 5 Mbps residential customer contracts. Which option is a viable solution to rate limit customer\\'s bandwidth both
upstream and downstream? 

A. class-based policing 

B. committed access rate on a per interface basis 

C. reserving 5 Mbps on Cisco MPLS TE tunnels that connect customers 

D. setting customer Ethernet links to 10 Mbps half-duplex 

Correct Answer: C 

 

QUESTION 3

Scenario: From the PE8 router, how many total prefixes for have an incoming local label assigned (including the imp-
null)? 
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A. 45 

B. 21 

C. 66 

D. 22 

Correct Answer: B 

Explanation: On PE8 issue: show mpls ip binding summary and look at "assigned in labels". That value is the correct
answer NOT "learned out label". 
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QUESTION 4

What is the term that is used for the label that an LSR assigns and distributes to other LSRs in MPLS? 
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A. Local 

B. Remote 

C. Explicit 

D. Explicit Null 

E. Aggregate 

Correct Answer: A 

 

QUESTION 5

Which three network services can be implemented using MPLS within the service provider IP NGN core? (Choose
three.) 

A. Layer 2 VPNs 

B. Layer 3 VPNs 

C. traffic engineering 

D. IntServ traffic engineering tunnels 

E. encrypted LSPs 

Correct Answer: ABC 
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